Ak (20184 7 H 1 HEM4y) OLEHY—&E

I[H (2018 /=2 A 5 H %)

201847 A 1 H FEVEEWEIE
B (201847 H 1 H i)

p 4. SERJBREHIAS 23 25, 500 &2 FEISSGETX, DIAE 1T (BRBFEGH | SEBREHIAS 25 27,100 & TEIZ25EAEE, BT (RRHE
11 B2 ) (1) =ICL>THESNTEBREEFEEZZ LW | B) (1) =itk THEESNTEBEIEFREELZ LWz
DEL, BIFT REHEFEEE) (1) AKX THEHESNEYE | oLk L, BIH1 (BREHEFE) (1) Stk TREESNF
PIRBHIRS A3 25, 500 [ % FEA3E1% BIBRBHMIRR 23 27, 100 % B 5 5E1%
pd. N (1) "=y rI (1) "=y w7 7T
11 B}44
P LT (B EHe ML (B
R— 5 HAAL HAAL
iA) iA)
B - — -
B (@D 15kWh £T) 13854 | 326. 6501 BIEEHS: (\&PD15kWh £C) 1849 | 279. 821
15k Whili#120 k W h 15k WhiBi#120k Wh
19. 761 19. 501
£T £T
120 k W h #3200 k W h 120k W h #8200 k W h
1k W | 24. 191 1 k W | 22.65[1
EBHERSE | £T . EHERE | £T .
200k Wh #8300k W h 200 k W h #Bi#300 k W h
24. 221 22. 7411
ENE ENG
300 k W h i 28. 30 300 k W h i 26. 70
p 5.
11 Bk 2) NYa—FF @) N)a—TT
N 2—TFF ‘ Bk BAL (Bl \ Bha AL (B
BANL HANL
&R FEAKE iA) FARH iA)
132%9 | 420. 00/ 18249 | 420. 00
1k W 1k W
EIERA IkWh»o . 23.37H H IR IkWhh b 22. 851
h




p.13

1 BREHE R o =0.0332 a =0.0140
(1) RBIE TR %R B =0.3786 B =0.3483
DEE y =0. 6231 y =0. 7227
A EEEREMRE
p.13 (£) 1Fm )y bVYT2 ) OFEBREHMIEAS 2325, 50011 % FE | () 1% v U v Y7 b OFEPREMTRE 2327, 10011 Z FE]

1 REHE R

(1) BREH TR AR
DFHIE

B2 R R

il

L%

VRS
AR L

(2) O HEUERAT
1000

= (25, 500 — FHIBRBHIFS) X

(7)1 ul vy b2 ONFEEBREHMIES 2325, 5001 % 1A

L%

L858

REE b
%%$ﬂj_(mﬂmm EEIBREHMIRS) X

(2) DILHEHA
1000

(m) 1%V vy bY72 ) OFEPREMIEE 2327, 1001 % k(0]

L858

RV B (2) OFEVEHAN BRVE B (2) OFEVEHA
S g = CEHBR B — 25, 500[1) X 1000 S {1 = (CEEEREHmAE —27, 1001]) X 1000
p.14
(Biir) (BiiA)
(2) JLHEHA et .
1 ¥y MRHZOX 198855 1 ¥y MREIZOX 168%2)5

Uk




